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Seat No. :

NF-115

November-2019
__ - M.Com., Sem.-1
406 : Accmm_tjng for Managers
- (New & Old)

Time : 2:30 Hours} iax. Mol < 20 =

Instructions: (1) Q.No.1,2,3 and 4 are for New Syllabus.
(2) Q.No.1,2,3and 5 are for Old Syllabus.

L (A) What are Indian Accounting Standards ? Explain the s't::bpe,t-_ importanc_g";.

(usefulness) and limitations of Accounting Standards. 14
OR
Answer the following : (any two) 40 W |
(1) Briefly explain the users and uses of fihancial statemient and accounting
informations. - A W =t - 7
(2) Explain the meaning and compenents of corporate financial statement. 7
(3) State the features of corporgfe financial'statement. 7
(B) Select the appropriate alterflatives s (ziny four) 4
(1) This accountingfstandardsgoveins the preparation of accounting for leases.
a) TAS-19/IndAS-17 [_4() AS-12 / Ind AS-20 |
(c) AS-10/Ind ASH6  (d)  None of the above
(2) - Edfning per shar® is dealt with by
((a)" \AS-20/1Ind AS-33 (b) AS-2/Ind AS-2
U T AS-12/Ind AS-20 (d) None of the above
#(3) 'AS-3/Ind AS-7 dealt with by |
/' (a) Cash flow statement (b) Accounting for leases
(c) Accounting for investment (d) None of the above
(4) AS-12/1Ind AS-20 deals with
(a) Accournting for government grants
(b) Depreciation accounting
(c) Construction contracts
(d) None of the above
(5) The full form of IFRS is
(a) International Financial Reporting Standards
(b) Indian Financial Record Standards
(c) Indian Financial Reporting Standards
(d) None of the above |
(6) Accounting Standards are issued by
(a) ICAI T IS
(c) ICWAI @ F P.T.O.
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| 2. (A) The follo’wing are the balance-sheets of "BINITA” Ltd. as on 31-03-2018 and

31-03-2019: ,
Liabilities. 31_03_2013 31-03-2019_ Assets 31-03-2018 | 31-03-2019
Q) ' 1l @ d
Paid up share | 5,00,000| 8,50,000 | Fixed Assets | 7,50,000 10,00,000
capital equity R | Less : |
share of ¥ 10 each | Ty | Depreciation 2.50.000 | 260 OOO'
| 5,00,000 | 7,00,000
Security Premium | - 25,000 | Investments 2,00,000 | * 2,50,000
General Reserve | 1,00,000 | 1,12,500 | Stock 3,775,000  4,00,000
Capital Reserve 25,000 | 50,000 | Debtors 2,250000\ 150,000
Profit & Loss A/c | 1,50,000 2 00,000 | Bills L W W
| | | receivables 1,00,000 50,000
10% Convert. - : | Banks balance \ ¥ 37,500
Debentures 2,50,000 | 1,25,000 [, T\ T, |
Creditors | 1,25,000 [ 1,00,000 |"Misc. _ekpenses 50,000 | 37,500
Bills payable 37,500 50,000 [ |\
Bank overdraft | 1,37,500 [ =
Provision for 4 B |
Taxation 75,000 | © 87,5004
Proposed | » . |
Dividend . 50000 |  .75,000 _ *
4 |\ 14,50,000, 16,75,000 14,50,000 | 16,75,000

& .Du.rin.g the year 31-03-2019 :

5 dy
(2)
)

(4)
()
(6)

Closing stock is undervalued by ¥ 25.000.
Doubtful debt of ¥ 5,000 is now to be written off.

Tax amount ¥ 62,500 is paid for the year 31-03-2018 and also proposed
dividend for the same year is paid ¥ 50,000.

14

Investment of ¥ 75,000 is sold at a profit and profit 1s credited to Cap1ta1 _

Reserve A/c.

- Cost value of fixed assetis ¥ 1 25 ,000 over which accumulated depreciation

is ¥ 50,000 is sold for T 62 ,900.

Company has issued right shares in the ratio of 2 : 1 at par to the equity -

| shareholders.

(7)

From

After lssumg right shares 250 convertible debentures of X 100 each
converted into 2000 equity shares each of ¥ 10.

the above partleulars, prépare cash flow statement as per Accounting

Standard No. 3/ Ind AS-7 and analyse all activities.
(Show necessary working as a part of answer)
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(A) (1) Kruti Ltd. provides the following information : 7

Income Statement

. 4

Sales * - 17,50,000
Less Cost of sales ~ 13.75.000
_ Gross profit ' | 3,75 000
Less Operating expenses | 1,25.000

1. 12,50,000
Less Tax 50% - | 1,25,000

Profit aftertax I 1,25,000_

Balance Sheet

| [__ Liabilities | <X
| Equity share capital 10,00,000
10% preference share B
capital | 10,00,00C

Fixed AsSets

ASSets |
stock T 1,00,000)

Assets

Reserves 5,5( “ '
10% Debentures 5,00,00C
Current liabilities

1. IS ;'.;l’ |

| [ 32.00.000 h
. ‘ ginning of the year was X 2,00,000. From the above
atio culate accounting ratios and make brief comment on each of

et profit ratio
Return on shareholder’s fund

Current ratio
Debt equity ratio
(v) Stock turnover

(2) The following are the accoﬁnting ratios of a company and idle ratios of

industry. You are required to make comment on each of the ratios. 7
You are also required to make comment on company’s liquidation and
profitability. |

Accounting Ratio l Company’s Ratio |~ Idle Ratio

| 1. Stock Turnover '| 7 times 0 times
| 2. Debtors Ratio 30 days 40 days

3. Creditors Ratio 35 days 50 days

4. Current Ratio | 4 - | | -2

- 20%0o
_ ot Profit Ralio 0 =
5 Nul Profl 15% P.T.O.
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(B)  Select appropriate alternative : (ny four)
(1) 200000 equity shares of T 10 each, T § g up and 100
dividend. then the amount ot dividend wij e ’
(@) T 160,000 (b)

() T 2.00.000

P ' .
018 the interim

{80,000
(d) ¥ 1.80.000

N : EN] £ \ 2 " T x
(<) Fund tlow statement and cash flow Statene

nare presented to

() Board of Directors M Foreman

(¢)  Production Manager

@

()  Sales Munugcr‘

3)  Cash receipts from issuc of Debentures is -

U-'n a ﬁl‘lﬂl\\:i“g ﬂl:[i\'i(}' (h) amn in\rcsli“b
(€)  anoperating activity (d)

¢

ek, purchase is
1,000, then gross

() It opening stock is ¥ 60.000 less tha
X 9.60.000. Closing stoek is ¥ 3.00.00(
profit ratio will be

@)  25%

(c)

%
None of the above

tes of T 80,000, its preference sh
ntal is ¥ 8,00,000, then the cn

Y

A

are capital is
putal gearing

W &
) W2 (b) 15%
0 (d) 50% |
( ompany’s Investment A/c shows ¥ 3.00.000 as opening balance and
X 3,60,000 as closing balance. Some of the Investments were sold at a price
of X 40,000 during the year and new investments worth ¥ 1,20,000 were
purchased. Find out the loss on the sale of investments during the year,

(d)  ¥20,000 (b) % 40,000
() 50,000 () T 60,000

3. (A) The balance sheet of ‘DEVAL’ Ltd. as on 01-04-2018 and the income statement
for the year ending on 31-03-2019 are given below :

Balance Sheet as on 01-04-2018

Liabilities 3 Assets

Share capital 250,000 | Machinery 2,20,000

12% Debentures 50,000 | Stock 30.000
= |

Creditors

50,000 | Debtors .

. Cash
3,50,000

12
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3

Incom
¢ Statement for the year ending on 31-03-2019

Opening Stock

+ Purchase

— Closing Stock

Gross Profit
Less : Expenses
-~ Operating Expenses
Depreciation |

Interest on
(paid on 31-03-

)

1-04-2018 280
t. 31-03-2019 420
Average Index No. 350

ou are required to prepare the final accounts for the year 2018-2019 after

- adjusting for price level changes under Current Purchasing Power (CPP) method.

OR

(A) Answer any two of the following :

(1) Explain the meaning and limitations of Human Resource. 7
(2) Write short note “Concept of Value Added” (V.A.). . 7
" (3) Explainthe meaning and scope of environmental accounting. 7
(4) Discugs; the role of ﬁnfmcial fraud examiner. 7
? P.T.O.
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priate alternative - : (any thrcc)

(B) Select appro |
1S consndcrcd non-monetary item with reference

(1) Which one of the following 1
to Inflation Accounting ?

(a) Closing Stock | (b) Debtors
() Cashand Bank Balance (d) None of the above

(2) Wluch one of the followmg models does not deal with Human Resource

- Accounting ? E
(a) Robert & Thomson model (b) Levand Schwartz m
(c) Jaggi-Lau model (d) None of the‘)ove
(3) Environmental clearance is required for \ ‘
\ovc '

(@) All the new proj ects | () Al tl
expénditure (b) Maintenance cost

(c) All the completed projects |
(4) The full form of MVA is (

(a) Marked Value Add
(b) Multiple Vari
(c) Multinatidnal i 1alysis
lysis

aste management cost ~ (d) All of the above

at is meant by Cost Accounting ? Discuss advantages and limitations of Cost

Accounting. 14
OR
(1) Explain the difference between 'Management Accountancy and Financial
Accounting. - ' | 7 .
(2) Discuss the techniques and tools of Management Accountancy. '
(B) Select appropfiz;te alternative : (any three) L 3

(1) Management by exception is

(a) atool of Management Accountancy
(b) amethod of preparing Financial Statement
(c) apart of costing method

(d) notany type of accounting method

NF-115 14



(2) Internal audit in management accounting 1S
(2) Voluntary
(b) Compulsory once in a year
(c) Compulsory twice in a year
(d)  Compulsory to be done through government ﬁppointcd auditor

(3) . In management accountancy in view of asset valuation on their
(a) replacement value & e

(b) basic price - '
¢

(c) cost price after depreCiation
¢ ‘\

(d) policy is not decided
ntract Costing

(4) To whom Management Accountancy is most useful ?
(@) Managers (b) Investors
(©) Creditors (d) Sh ers

is not used 1n Cost Accounti

¢

(5)

(a) Marginal Costing sting

(c) Batch Costing

5. (ﬁi) Rupa Ltd. fiifnishes y - @ \rmation relating to the half year ending
' 14

30" Septembel; 2040 '
, ' % 8,00,000
peNses | % 2,00,000

e
it 3 2,00,000
g the second half of the year the company has projected a loss of ¥ 40,000.

alculate :
(1) TheP/V Ratio, the breakeven point and margin of sa

(half yearly) ending 30" September, 20183.
(2) Expected‘sales for second half of the year assuming that selling price and
. fixed expenses remain unchanged in the second half year also.

(3) The breakeven point and margin of safety for the whole year 2018-2019.
| OR

fety for siX months

Attempt any two of the following :
(1) Definc budgetary control and state its advantages.

(2) Explain (he concept for zero-based budgeting and state the advantages. 7
.
(3) Write short note “Break-Even Point™
l"lTlOi
15
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(B) Select appropriate alternatives . (any three)

(1) Wages of January and February are < 48,000 and ¥ 64 000 respectweiy
Time lag is % month. Calculate amount to be paid in February.

(a) 60,000 (b) 48,000
() ¥24,000 | (d) 64,000
(2) Contribution received at Break-Even point (BEP)=

(@) Total Fixed Cost " «.- (b) Profit
(c) Loss (d) Total Vm‘bl\ \

(3) Cash budget is a useful tool for
(a) Financial Planning
(c) Sales Planning

(4) Contribution received from the sal

(a) Profit ed Cost

Variable Cost

ose of budgeting ?

tine spending.

ing forces advance planning. -
unicates managements policies to subordinates. -

It establishes prices for internal services.




